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BUDHA DAL PUBLIC SCHOOL PATIALA
FIRST TERM EXAMINATION (16 September 2024)
Class - X
Paper-Mathematics Standard (Set-A)

M.M. 8
Time: 3hrs. .

General Instructions:

1. This Question Paper has 5 Sections A, B, C, D and E.
2. Section A has 20 MCQs carrying 1 mark each

3. Section B has 5 questions carrying 02 marks each.
4. Section C has 6 questions carrying 03 marks each.
5. Section D has 4 questions carrying 05 marks each.

6. Section E has 3 case based integrated units of assessment (04 marks each) with sub-
parts of the values of 1, 1 and 2 marks each respectively.

1.

Section-A
1637800 = 5% x 2> x 3¢ x 74, thena + b + ¢ + d is
a)9 b) 8 c) 10 d) 6
For what value of k will k + 9,2k — 1 and 2k + 7 are the consecutive term of an A.P.
a) 2 b) 7 9 d)18
If zeros of the polynomial x2 4+ ax — b be the reciprocal of each other, then b is equal to

a)l b) -1 ¢)a d) 1/a
A quadratic polynomial whose sum and product of zeros are mmza — 1respectively is

a) 4x>+x—4 b)4x? —x—4  c)4x?+4x—1 d) none of these
The zeros of the polynomial p(x) = x% + 4x + 3 are given by

a) 1,3 b)—1,3 c)1,-3 d) -1,-3

The pair of equations x = 0 and x = —7 has

a) One solution b) two solutions  ¢) many solutions d) no solutions
The value of k for which the lines 5x + 7y =3 and 15x + 21y = k coincide is
a)9 Db)5 c)7 d) 18

The nature of roots of the equation x2 — 4x + 3v2Z = 0 are

a)realroots  b) equal roots c) not real roots  d) real and equal both
The sum of two numbers is 48. If one of them is x, then the other will be

a) 48 — x b)x—48  ¢)x(x —48) d) none of these
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10. Sum of first n natural numbers is

n n(n-1) n+1 n(n+1)
; b= 9% 9 =N

11. Three coins are tossed simultaneously. Find the probability of getting atleast two heads

1 3

a) w b) > c) S d) none of these

12. If 10t term of V3, V12, V27...... is

a)V300 b)12V5 ¢)3Vy10  d)v30

13. Sum of the series 2 + 5+ 8 + - + 182 is
a) 5612 b) 8612 c) 7612  d)9012

14. A coin is tossed 150 times with 120 tails. Which of the following is the probability of getting a
head

4 3
a) ¢ b) - ©o1/5 d) none of these
15. The discriminant of 4x? —ax +2 =0 is

a)32—a? b)a?+32 c)—a*-32 d)a*-32

16. If two dice are thrown simultaneously, the probability of getting a doublet is

C W d) none of these

a) 5z b

[0 B

17.1f AABC and ADEF, mm = m which of the following makes the two triangle similar?

a) £A=14D b) 2B =¢4D c)4B=LE d) 2A = £LF
18. In figure, the value of x for which DE || BC is
a) 4
b) 1
c) 3 3-HY
d) 2
19. Statement A (Assertion) : If the system of linear equations 3x + 5y — 4 = 0 and

15x + 20y — 7 = 0 is consistent

Statement R (Reason) : The pair of linear equations a;x + b1y + ¢; =0 and a,x + by +¢c; =0

. . . o a w:.
Wmﬁammmbﬁm intersecting lines, if 2% =2
az by

a) Both A and R are true and Reason (R) is correct explanation of A
b) Both A and R are true but Reason (R) is not the correct explanation of A
c) A is true but R is false
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\ d) A is false but R is true
y 20. Statement A (Assertion) : The point (0, 4)lies on y — axis

ﬁ Statement R AWmmmoE : The x —coordinate of the point on y —axis is zero

a) Both A and R are true and Reason (R) is correct explanation of A

b) Both A and R are true but Reason (R) is not the correct explanation of A
€) A is true but R is false

d) A is false but R is true

Section - B

21. Prove that 5 — 3v2 is an irrational number.
22. If x = 1 is one of the zero of the quadratic polynomial ax? — 3(a — 1)x — 1, find the value of a.

23. In a flower bed, there are 23 rose plants in the first row, 21 in the second, 19 in the third and so

on. There are 5 rose plants in the last row. How many rows are there in the flower bed?
24. Find the quadratic polynomial, whose zeros are in the ratio 2 : 3 and their sum is 15.

25. Find k for which the pair of linear equations

\ﬁun =+ NV\ =13 ) .
3x + 6y = 10 has a unique solution
Section - C

26. Sides AB and BC and median AD of a AABC are respectively proportional to sides PQ and QR
and median PM of APQR. Show that AABC~APQR

A

P

Rt e, D C- 8 I R

27. If the sum of the first 14 terms of an A.P. is 1050 and its first term is 10, find the 20 term.

28. Find the value of k .on which the roots are real and equal in the quadratic equation

QRk+1)x?-2(k-1)x+1=0
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29. In the given figure pE Il o

Q and DF || OR,
show that EF || R

P

8 R
30. If &, B are the zeros of the polynomial 4x2 — 5x — 1 find the value of a8 + aB?

31. Solve for x and y —

Xty=7
MR..THN%”.N

Section - D

32. Two years ago, Salim was thrice as old as his daughter and six years later, he will be four

years older than twice her age. How old they are how?

33.1f 2 is the zero of the polynomial 4x2 4 2x — 5a, find the value of a and hence verify the

relationship between zeros and the coefficients of the polynomial.

34. Prove that if a line is drawn parallel to one side of a triangle to interest the other two sides in

distinct points, the other two sides are divided in the same ratio.
35. One card is drawn from a pack of 52 cards. Find the probability that the card drawn is
a)anace b)redandking c)eitherred orking d)afacecard e)‘10’ of black suit

Section - E
Case Study :

36. The graphs of quadratic polynomial are parabolic vaguely ‘U’ shaped and have a highest or
lowest point called the vertex. They may open up or down. They are symmetrical curves. The
graph of a quadratic polynomial is given below:

M

3

+2

N

A-H
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Based on the above inform

1.

2.

3.

a)
37.

38.

ation, answer the following questions:
The graph shown above g th

a) line b) parabola

at of

¢) ellipse  d) circle
The zeroes of the Polynomial for the given graph are

D CH0Q0) b)@,0),(=2,0) 42 d)—d2
The polynomial Tepresenting above graph is

8=2x—x%2 DL)x242y—3g c)x*—2x—8 d)8+2x —x*

The figure shows a big equilateral triangle in which multiple other equilateral triangles may be
seen. Observe the pattern,

Based on the above figure, answer the mo=0<<m=.w &mmmzosm"

How many triangles will be there in the 15t row?

a) 28 b) 29 c) 30 d) 31

In which row will the number of triangles be 47?

a) 22 b)23 )24 d) 25

How many small triangles will be there in the figure consisting of 10 rows?
a) 90 b)100 ¢)110 d) 95

Two students A and B went to a library to return some books. The library has a fixed charge
for the first two days and an additional charge for each day thereafter. Student ' A was issued a
book for 10 days and was charged Rs. 94 whereas, student B was issued a book for 8 days and
was charged Rs. 78.

Based on the above information, answer the following questions:

The fixed charge on each book is

a) Rs.10  b)Rs.15 ¢)Rs.30 d) Rs. 35

The additional charge on a book for each extra day is

a) Rs.6 Db)Rs.7 ¢)Rs.8 d) Rs. 9

If another student C was issued a book for 4 days, the total amount paid by him will be

a) Rs.32 bD)Rs.46 c)Rs.45  d)Rs.38

A-5
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BUDHA DAL PUBLIC SCHOOL H>H~WM.MWV
FIRST TERM EXAMINATION (16 September
Class - X
Paper-Mathematics Standard (Set-B) -

Time: 3hrs.

General Instructions:

1. This Question Paper has 5 Sections A, B, C, D and E.

2. Section A has 20 MCQs carrying 1 mark each

3. Section B has 5 questions carrying 02 marks each.

4. Section C has 6 questions carrying 03 marks each.

5. Section D has 4 questions carrying 05 marks each. )

6. Section E has 3 case based integrated units of assessment (04 marks each) with sub-

parts of the values of 1, 1 and 2 marks each respectively.
Section-A

1. 13x4+26isa
a) irrational number  b) composite number  c) prime number ~d) none of these

2. The sum of exponents of prime factors in the prime factorization of 31500 is

a)2 b)8 )6 d)5
3. The product and sum of the zeros of the polynomial 3x2 — 2/2x + 2 are respectively

a Iw.l% b) 2,-2V2 nvwmw\lm d) none of these

4. If the product of the zeros of quadratic polynomial 3x% 4+ 5x + kis — m\ then k is

a) =3 b) —2 c)2 d)3
5. The zeros of the polynomial p(x) =x?+ax—b be the reciprocal of each other, then b is
equal to
a) 1 b) -1 c) a d) 1/a
6. The pair of equations x = 3 and y = 5 graphically represents lines which are
a) parallel b) intersecting at (5,3)  c) coincident d) intersecting at (3, 5)
7. The value of k, for which the system of linear equations x +2y =3; S5x+ky+7 =0 is

inconsistent is

a) -2 pi 95 d) 10

3 5
8. The number of solutions of 3**Y = 243 and 243* Y =3 is
a)0 b)1 c)2 d) infinite

9. Sum of first n natural numbers is

E n(n-1) nv n+1 Qv n(n+1)

n
Nvm > .

B-l
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.Ho. The sum of two numbers is 48. If one of them is x, then the other will be
a) 48—x  b)x—48 c)x(x—48) d)none of these
11. The discriminant of 4x2 —ax + 2 =01is
a)32—a? b)a*+32 c)—a?-32 d)a®-32
12. A coin is tossed 150 times with 120 tails. Which of the following is the probability of getting a

head

a) m b) m c) W d) none of these

13. The 10t term of V3, V12, V27...... is
2)V300  b)12v5 )3vi0  d)v30

14. If two dice are thrown simultaneously, the probability of getting a doublet is

a) = b W c W d) none of these
15.Sum of the series 2+ 5+ 8+ -+ 182 is

a) 5612  b)8612 ) 7612  d)9012

4B _ BC€ which of the following makes the two triangle similar?

16.In AABC and ADEF, = s

a) LA=¢«D  bysB=+4D c)4B=LE d) £A = £F
17. In figure, the value of x for which DE || BCis A

a) 4 A+3 %

b) 1 B €

c) 3 3¢+ Q>+
d) 2 B -

18. Three coins are tossed simultaneously. Find the probability of getting atleast two heads
a) w b) w c) w d) none of these

15x + 20y — 7 = 0 is consistent

Statement R (Reason) : The pair of linear equations a;x + b;y + ¢; = 0 and a,x + b,y + ¢, =0

Represents intersecting lines, if e
az

a) Both A and R are true and Reason (R) is correct explanation of A

b) Both A and R are true but Reason (R) is not the correct explanation of A

H@.mﬁmﬂm5m5~>ﬁ>mmm~.mosv“H:rmmv\mﬁmgo:m:mmam@gmosmwx+m“<|#Hom:a
| c) A is true but R is false

d) A is false but R is true
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y 20. Statement A (Assertion) : The point (0, 4)lies on y — axis
| Statement R (Reason) : The x —coordinate of the point ony —axis is zero
a) Both A and R are true and Reason (R) is correct explanation of A
b) Both A and R are true but Reason (R) is not the correct explanation of A
c) A is true but R is false
d) A is false but R is true

Section - B

21. If x = 1 is one of the zero of quadratic polynomial ax? — 3(a — 1)x — 1, find the value of a

22, Find the 9t term from the end of an A.P. 5, 9,13, ....... . 185

23. Prove that 5 — 3v2 is an irrational number.
24. Find k for which the pair of linear equations

kx +2y =3
3x+6y=10

has a unique solution
25. Find the quadratic polynomial, whose zeros are in the ratio 2 : 3 and their sum is 15.
Section - C

26. In the given figure DE || 0Q and DF || OR 3

Show that EF || QR

& R

27. A fraction becomes 1/3 when 2 is subtracted from the numerator and it becomes %2 when 1 is

subtracted from the denominator. Find the fraction.
28. Find the value of k for which the roots are real and equal in the quadratic equation
kx (x —2V5)+10=0
29. Sides AB and BC and the median AD of AABC ‘.
are respectively proportional to sides PQ and

QR and median PM of APQR.

Show that AABC~APQR B D < g M R
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30. If a, B are the zeros of the polynomial 4x% — 5x — 1 find the value of a?B + ap’
31. Solve for x and y
X+y=7
Sx+12y =7
Section - D
32. Find the number of natural numbers between 101 and 999 which are divisible by both 2 and 5.
33. One card is drawn from a pack of 52 cards. Find the probability that the card drawn is
a) anace b)redandking c)eitherred orking d)afacecard e) 10" of black suit
34. 1f 2 is the zero of the polynomial 4x2 + 2x — 5a, find the value of a and hence verify the
relationship between zeros and coefficients of the polynomial.
35. Prove that if a line is drawn parallel to one side of a triangle to intersect the other two sides in
distinct points, the other two sides are divided in the same ratio.

Section - E

Case Study :

36. Two students A and B went to a library to return some books. The library has a fixed charge
for the first two days and an additional charge for each day thereafter. Student.” A was issued a
book for 10 days and was charged Rs. 94 whereas, student B was issued a book for 8 days and
was charged Rs. 78.

Based on the above information, answer the following questions:
1. The fixed charge on each book is
a) Rs.10  b)Rs.15  ¢)Rs.30 d) Rs. 35
2. The additional charge on a book for each extra day is
a) Rs.6 Db)Rs.7 c)Rs.8 d)Rs.9
3. If another student C was issued a book for 4 days, the total amount paid by him will be

a) Rs.32 b)Rs.46 c)Rs.45  d)Rs. 38

37. The graphs of quadratic polynomial are parabolic vaguely ‘U" shaped and have a highest or
lowest point called the vertex. They may open up or down. They are symmetrical curves. The
graph of a quadratic polynomial is given below:

\f,\

N

w/
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1.

2.

3.

a)

38. The figure shows a big equilateral triangle in which multiple other equilateral triangles may be

Based on the above information, answer

the mozoim:m questions:

The graph shown above is that of

a) line D) parabola c)ellipse  d) circle

The zeroes of the polynomial for the given graph are

a) (=4,0),(2,0) D) (4,0),(=2,0) c)4,-2 d)—42
The polynomial representing above graph is

8—2x—x* Db)x?+2x—8 c)x2—2x—8 d)8+2x—x?

seen. Observe the pattern.

Based on the above figure, answer the following questions:
How many triangles will be there in the 15t row?

a) 28 b) 29 c) 30 d) 31

In which row will the number of triangles be 47?

a) 22 b)23 )24 d) 25

How many small triangles will be there in the figure consisting of 10 rows?

9 b)100 110  d)9%
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